IES

THTFERERBEMFRERR (BITH)

# = K HIEZE #H1IE & Bl (F. ha)
@ 1.00 0.90 1,540,800
@ 1.14 1.04 1,780,400
©) 1.33 5] 0.90 1.23 2,105,700
@ 1.60 1.50 2,568,000
® 2.00 1.90 3,252,800
Q) 1.00 1.00 1,712,000
@ 1.14 1.14 1,951,600
©) 1.33 th 1.00 1.33 2,276,900
@ 1.60 1.60 2,739,200
® 2.00 2.00 3,424,000
@ 1.00 1.10 1,883,200
@ 1.14 1.24 2,122,800
©) 1.33 = 1.10 1.43 2,448,100
@ 1.60 1.70 2,910,400
® 2.00 2.10 3,595,200

X1 FHIEREMECIT. EEEZST.

X2 BEFHSH X EEFEREEM+

ERE =Bl (MRUTENET)

X3 Hifffi x tH1E GBE) - FE) =W 1EZ Bl (100K FHIET)




